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o Given the unbalanced equation: e Which chemical equation is
__Al(s)+__0,(g) > ___ALOy(s) correctly balanced?
Wher s equatorrs correctynald oy A H (o) + Oy(g) — H,O(g)
USIng-Sra = Ewn 0l i Wha B I)g) 4 Y S NH
th o1 | e . 4 ? o) (9 "
< Cc Cl(s)4 Na(s) + CL(d)
A ¢ D 2HCl(s) +# 2K1(5) +'Cly(
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Given the balaiced tion:
i i Given the balanced equation:
I,(s) + energy — l,(g)
As a sample of |,(s) sublimes to 1,(g), the 2C + 3H, — C,H,
entropy of the sample
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C,H, + 2Cl, — C,H,Cl,
This reaction is best classified as
A addition
B esierificaio
c YAt
D

F,(Q) ¥ CI;(@) — ZACT(g)

What is the total number of moles of
HCI(g) produced when 3 moles of H2(g)
isf ™consumed?

A| 5 rholet € 3 motes
B| 2 moles [ 6 moles

e Cliverihe n¢ed egudtion:

C;Hg(g) +50,(g)— 3C0O(g) + 4H,0(9)

What is the total number of liters of CO,(g)
produced when 20.0 liters of O,(g) are
completely consumed?

A 120L C 3.00L
B 224L D 5.00L

‘ :9' Siven the'walancad equatiol

Fe(s) + CuSO,(aq) — FeSO,(aq)+ Cu(s)

What total mass of iron is necessary
to produce 1.00 mole of copper?

A 26.0g C 112g
B 558¢ D 192¢g
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Given the unbalanced equation:
—_Al(s) + __0,(g) — ___Al,Oq4(s)

Wher s equatorrs correctynald oy
USIng-Sra = Ewn 0l i Wha

th ‘°h|‘~"‘f Qo
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Which chemical equation is
correctly balanced?

(9) + Ox(9) — Hx0(g)

1(9) 4 Hao(gl —\NHZ(T)
Cl(s)4 Na(s) + CL(d)

{Cl(s) -+ 2K15) +'Cl,{

0oo0mpe

Given the balaiced equation:
I,(s) + energy — l,(g)

As a sample of |,(s) sublimes to 1,(g), the
entropy of the sample

D

Given the balanced equation:
2C + 3H, — C,H,
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C,H, + 2Cl, — C,H,Cl,
This reaction is best classified as
A addition
B esierificaio
c YAt
D

A

Cliverihe n¢ed egudtion:

C;Hg(9) +50,(g)— 3C0O,(9) + 4H,0(g)
What is the total number of liters of CO,(g)
produced when 20.0 liters of O,(g) are
completely consumed?

C 3.00L
D 5.00L

A 120L
B 224L

A

F,(Q) ¥ CI;(@) — ZACT(g)

What is the total number of moles of
HCI(g) produced when 3 moles of H2(g)

isf ™consumed?
A| 5 rholet € 3 motes
B| 2 moles [ 6 moles

D

Siven the'walancad equatiol
Fe(s) + CuSO,(aq) — FeSO,(aq)+ Cu(s)

What total mass of iron is necessary
to produce 1.00 mole of copper?

A 260¢g
B 558¢

C 112g
D 192¢g
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